
https://www.pass2lead.com/100-890.html
2024 Latest pass2lead 100-890 PDF and VCE dumps Download

 

 

 

100-890Q&As

Supporting Cisco Collaboration Devices

Pass Cisco 100-890 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/100-890.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

100-890 Study Guide | 100-890 Exam Questions | 100-890 Braindumps                                1 / 3

https://www.pass2lead.com/100-890.html
https://www.pass2lead.com/100-890.html
https://www.pass2lead.com/100-890.html


https://www.pass2lead.com/100-890.html
2024 Latest pass2lead 100-890 PDF and VCE dumps Download

QUESTION 1

Which distributed database allows hostnames lo be mapped to IP addresses? 

A. Dynamic Host Configuration Protocol (DHCP) 

B. Network Time Protocol (NTP) 

C. Domain Name System (DNS) 

D. Cisco Discovery Protocol 

Correct Answer: C 

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst3750x_3560x/software/release/
12-2_55_se/configuration/guide/3750xscg/swadmin.html 

 

QUESTION 2

The Certificate Trust List (CTL) file is an important file that the Cisco IP phone downloads during the bootup process.
What information is defined in the CTL file? 

A. CTL contains a list of certificates and feature licenses that the IP phone is authorized to use 

B. CTL specifies a list of configuration files that the phone can download from the TFTP server 

C. CTL contains a list of Cisco Unified CM and TFTP servers that the IP phone is authorized to connect to. 

D. CTL defines how the Cisco IP Phone communicates with Cisco Unified CM and provides a phone with its load ID 

Correct Answer: C 

 

 

QUESTION 3

Which two protocols are peer-to-peer signaling protocols where the end devices contain the intelligence to initiate and
terminate calls and interpret call control messages? (Choose two ) 

A. H.248 

B. SCCP 

C. H.323 

D. SIP 

E. MGCP 

Correct Answer: CD 
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Explanation: SIP and H.323 are examples of peer-to-peer signaling protocols where the end devices or gateways
contain the intelligence to initiate and terminate calls and interpret call control messages 

https://www.ccexpert.us/voice-over-ip/mcu.html 

 

QUESTION 4

Which two devices can provide a Cisco IP phone the network connection and power necessary for the phone to function
in the IP telephony network? (Choose two ) 

A. IP phone power adapter with Ethernet port 

B. Cisco Unified Communications Manager PoE port 

C. Cisco TelePresence codec 

D. Cisco Voice Gateway PoE port 

E. Cisco Catalyst PoE switch 

Correct Answer: DE 

 

QUESTION 5

What are two standard fiber-optic connectors? (Choose two.) 

A. Lucent 

B. rollover 

C. subscriber 

D. multidimension 

E. crossover 

Correct Answer: AC 
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